

ON ARITHMETIC FUNCTIONS AND A TRIGONOMETRICAL PRODUCT

J. Sándor¹ and L. Tóth²

¹ Babes-Bolyai University, Cluj, ROMANIA

² Janus-Pannonius University, Pécs, HUNGARY

In what follows we shall study certain arithmetic functions with application to the study of some trigonometrical products.

1. The following auxiliary propositions will be used. The first Lemma is well known.

LEMMA 1 (Möbius inversion formula) If $\sum_{d|n} f(d) = g(n)$, then

$$f(n) = \sum_{d|n} \mu(d)g\left(\frac{n}{d}\right),$$

where μ is the Möbius function.

Note: The sum $\sum_{d|n} a(d)b\left(\frac{n}{d}\right)$, will be convolution $(a * b)(n)$. In Lemma 1, $f = \mu * g$.

LEMMA 2 (Hurwitz [8]) Let $\phi : [0, 1] \rightarrow \mathcal{C}$ be an arbitrary complex-valued function and put $f(n) = \sum_{k \in A(n)} \psi\left(\frac{k}{n}\right)$, $g(n) = \sum_{k=1}^n \psi\left(\frac{k}{n}\right)$, where $A(n) = \{k | 1 \leq k \leq n \& (k, n) = 1\}$. Then

$$f(n) = \sum_{d|n} \mu(d)g\left(\frac{n}{d}\right) = (\mu * g)(n).$$

Proof: $g(n) = \sum_{d|n} \sum_{(k,n)=d} \psi\left(\frac{n}{d}\right) = \sum_{d|n} \sum_{s \in A\left(\frac{n}{d}\right)} \psi\left(\frac{s}{d}\right) = \sum_{d|n} f(d)$.

LEMMA 3: Let $\psi : [0, 1] \rightarrow (0, \infty)$ and $F(n) = \prod_{k \in A(n)} \psi\left(\frac{k}{n}\right)$, $G(n) = \prod_{k=1}^n \psi\left(\frac{k}{n}\right)$. Then

$$F(n) = \prod_{d|n} [G\left(\frac{n}{d}\right)]^{\mu(d)}$$

Proof: Since

$$\log F(n) = \log \prod_{k \in A(n)} \psi\left(\frac{k}{n}\right) = \sum_{k \in A(n)} \log \psi\left(\frac{k}{n}\right)$$

and

$$\log G(n) = \sum_{k=1}^n \log \psi\left(\frac{k}{n}\right),$$

we can apply Lemma 2 with $f = \log F$, $g = \log G$. One gets

$$\log F(n) = \sum_{d|n} \mu(d) \log G\left(\frac{n}{d}\right) = \log \prod_{d|n} [G\left(\frac{n}{d}\right)]^{\mu(d)}.$$

DEFINITION 1. Let λ be a given arithmetical function. If the prime factorization of

$n > 1$ is given by $n = \sum_{i=1}^{\omega(n)} p_i^{a_i}$ (where $\omega(n)$ denotes the number of distinct prime divisors of n), let

$$u(n) = \begin{cases} \lambda(p), & \text{if } \omega(n) = 1 \\ 0, & \text{otherwise} \end{cases}$$

and $v(n) = \sum_{i=1}^{\omega(n)} a_i \lambda(p_i)$.

Further, let $u(1) = v(1) = 1$.

This function v has been named by S. W. Golomb [3] a logarithmic function.

We now can prove the following

LEMMA 4: The above introduced function v is completely additive, i.e., $v(mn) = v(m) + v(n)$ for all $m, n \geq 1$.

We omit the simple proof of this result.

CONSEQUENCE: $v(n^k) = k.v(n)$ for $n, k \geq 1$.

LEMMA 5: We have $v(n) = \sum_{d|n} u(d)$ and $u(n) = (\mu * v)(n)$.

Proof: By using the definition of the function u , we must consider only those divisors of n which have a single prime factor. Since $p_i|n$, $p_i^2|n$, ..., $p_i^{a_i}|n$ and always $u(p_i^s) = \lambda(p_i)$ and this term appears a_i times in the sum ($1 \leq s \leq a_i$), the identity follows. The second equality follows by Lemma 1.

LEMMA 6 ([9], p. 104) Let f, g, h be arbitrary arithmetic functions, where h is completely additive. Then $(f * g).h = (fh) * g + f * (gh)$.

Proof: $(f * g)(n).h(n) = \sum_{d|n} f(d)g\left(\frac{n}{d}\right)h(n) = \sum_{d|n} (f(d)g\left(\frac{n}{d}\right)h(d) + f(d)g\left(\frac{n}{d}\right)h\left(\frac{n}{d}\right))$, by

$h(n) = h(d) + h\left(\frac{n}{d}\right)$ for $d|n$.

LEMMA 7 One has $\sum_{d|n} \mu(d)v(d) = -\mu(n)$.

Proof: Apply Lemma 6 to $f(n) = 1$ for all n , $g = \mu$ and $h = v$. Then $(f * \mu).v = (f.v) * \mu + f * (\mu v)$, and by Lemma 1, $v(1) = 0$ and the commutativity of the (Dirichlet)

convolution, we can write $(\mu v * f)(n) = \sum_{d|n} \mu(d)v(d) = -(v * \mu)(n) = -\mu(n)$ on base of

Lemma 5.

We now extend the definition of function v to the rationals:

DEFINITION 2: Let $m, n \geq 1$ be integers and put $v\left(\frac{m}{n}\right) = v(m) - v(n)$ (The new function will be denoted by v , too.)

LEMMA 8: $v(n^t) = t.v(n)$ for all $n \geq 1$ and all integers t . Moreover, v is completely additive on the set of positive rational numbers.

Proof: For $t > 0$, this holds by Lemma 4. Let $t = -m$ ($m > 0$). Then

$$v(n^t) = v\left(\frac{1}{n^m}\right) = v(1) - v(n^m) = 0 - mv(n) = tv(n).$$

Particularly, $v(n^{-1}) = -v(n)$. On the other hand,

$$\begin{aligned} v\left(\frac{m}{n} \cdot \frac{p}{q}\right) &= v(mp) - v(nq) = v(m) + v(p) - v(n) - v(q) \\ &= (v(m) - v(n)) + (v(p) - v(q)) = v\left(\frac{m}{n}\right) + v\left(\frac{p}{q}\right). \end{aligned}$$

Remark: P. Erdős has proved that when f is a completely additive and strictly increasing function, then $f(n) = c \log n$ (c - constant, see, e.g., [4], p. 204).

1. We now are able to prove the main result of this paper.

THEOREM: Let the functions u and v be defined as in Definitions 1 and 2. Assume

that $\sum_{n \leq x} u(n) = O(x)$. Put $P_n = \sum_{k \in A(n)} \sin \frac{k\pi}{n}$. Then

$$\sum_{n \leq x} v(P_n) = -\frac{3v(2)}{\pi^2} \cdot x^2 + O(x \cdot \log x).$$

Proof: In Lemma 3 put

$$\psi(x) = \begin{cases} \sin \pi x, & \text{if } x \in (0, 1) \\ 1, & \text{if } x = 1 \end{cases}$$

Then $F(n) = P_n \equiv \sum_{k \in A(n)} \sin \frac{k\pi}{n} > 0$ ($n \geq 2$). It is well known that $\prod_{k=1}^{n-1} \sin \frac{k\pi}{n} = \frac{n}{2^{n-1}}$

(see, e.g., [10], p. 29). Therefore

$$P_n = \prod_{d|n} \left(\frac{n}{2^{\frac{n}{d}-1}}\right) = \frac{n^{\sum_{d|n} \mu(d)}}{\prod_{d|n} d^{\mu(d)} \cdot 2^{\sum_{d|n} \frac{n}{d} \cdot \mu(d) - \sum_{d|n} \mu(d)}}.$$

Since $\sum_{d|n} \mu(d) = \begin{cases} 1, & \text{if } n = 1 \\ 0, & \text{if } n > 1 \end{cases}$, and the known formula $\varphi(n) = \sum_{d|n} \frac{\mu(d)}{d}$ (see, e.g.,

[6], p. 83) one obtains $P_n = \frac{1}{\prod_{d|n} d^{\mu(d)} \cdot 2^{\varphi(n)}}$, ($n \geq 2$). By using Lemmas 7 and 8, we have

$$v(P_n) = -v\left(\prod_{d|n} d^{\mu(d)} \cdot 2^{\varphi(n)}\right) - \varphi(n)v(2) = \sum_{d|n} \mu(d)v(d) - \varphi(n)v(2) = u(n) - \varphi(n)v(2)$$

($n \geq 2$). The result follows by summation and Mertens' formula ([5], p. 268) $\sum_{n \leq x} \varphi(n) = \frac{3}{\pi^2} \cdot x^2 + O(x \cdot \log x)$.

COROLLARY: 1.
$$\lim_{m \rightarrow \infty} \frac{\sum_{n=1}^m v(P_n)}{m^2} = -\frac{3v(2)}{\pi^2}.$$

Remarks: 1. An example for the function v is given by $v(n) = \log n$ ($n \geq 1$). Then $u(n) = \Lambda(n)$ - von Mangoldt's function. Since it is known that $\sum_{n \leq x} \Lambda(n) = O(x)$ (see [1], p. 101), the above theorem gives

$$\sum_{n \leq x} \log P_n = -\frac{3 \log 2}{\pi^2} \cdot x^2 + O(x \cdot \log x).$$

2. For the product $P_n = \prod_{k \in A(n)} \sin \frac{k\pi}{n}$ one has therefore

$$P_n = \begin{cases} \frac{p}{2^{\varphi(n)}}, & \text{if } n = p^a \\ \frac{1}{2^{\varphi(n)}}, & \text{otherwise} \end{cases} \quad (\text{ see [7]})$$

3. By using the same procedure, we have $\prod_{k \in A(n)} \cos \frac{k\pi}{n} = (-\frac{1}{4})^{\frac{1}{2}\varphi(n)}$ if $n \geq 3$ is odd

(see [2]).

References:

- [1] I. Crengă et al., Introduction to the Theory of Numbers, Bucharest, 1965 (in Romanian).
- [2] M. Deaconescu and J. Sándor, On the cyclomatic polynomial. Algebra. National conference, Timisoara, June 1986.
- [3] S. W. Golomb, The lambda method in prime number theory, J. Number Theory, **2**, 1970, 193-198.
- [4] E. Gyarmati and P. Turán, A Course in Number Theory, Budapest, 1980 (in Hungarian).
- [5] G. H. Hardy and E. M. Wright, An Introduction to the Theory of Numbers. Oxford, 1968.
- [6] I. Niven and H. S. Zuckerman, Bevezetes a szamelmeletbe, Müszaki K., Budapest, 1978.
- [7] L. Panaitopol, Proposed Problem 2, Gaz. Mat. Perf. Met. **3-4**, 1985, 192.
- [8] G. Pólya and G. Szegő, Aufgaben und Lehrsätze aus der Analysis, Leipzig, 1924.
- [9] I. Z. Ruzsa, Arithmetical functions. Mat. Lapok, Budapest, **27**, 1976-79, 95-145.
- [10] Gh. Siretchi, Differential and Integral Calculus, Vol. II, Bucharest, 1985 (in Romanian).
- [11] L. Tóth, An arithmetical functions, Sem. "Didactica Mat.", 1984-1985, Cluj, Romania (in Romanian).